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Задание G2_18

Прочитайте приведённый ниже текст. Образуйте от слов, напечатанных заглавными буквами в
конце строк, обозначенных номерами 26–31, однокоренные слова так, чтобы они грамматически
и лексически соответствовали содержанию текста. Заполните пропуски полученными словами.
Каждый пропуск соответствует отдельному заданию из группы 26–31.

Cyberspace communication

26

Nowadays most of us go to our computers to connect with friends instead of
using  our phones.  Cyberspace relationships  have become the norm for  many
people, even the most __________________ ones. CONSERVE

27s The convenience and __________________ of the Web is  amazing.  If we
want to see a movie, find a place to eat or get in touch with a friend, we go to
the Web before we call on the phone.

EFFECTIVE

28s
Critics,  however,  say  that  cyberspace  communication  loses  some  important
factors  of  the  social  atmosphere.  Most  Web __________________  don’t
understand that when we talk to someone, we get many messages from them
just by their tone of voice and body language.

USE

29s A  tender  __________________  and  eye  contact  cannot  possibly  be
experienced over the Internet.

EXPRESS

30s
As with anything we do, without regular practice the act can become unfamiliar
and__________________. COMFORT

31s There is a possibility that much can be __________________lost when we
communicate via the Internet.

REAL




